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scegy g5 24 125,230 125,230 0
301 EtE N = 125,230 125,230 0
07 S8 -0 - HES2d3 125,230 125,230 0
O o= 121,680
—Jl2ey 300, 000244262+ 122 93,600
- 40123 300, 00024262 +200% 15,600
S EE-ZEs=
20,0002 x26Z *12E +23] 12,480
O g 50,0003 +712*13] 3,550
e dasdryd 130,945 124,229 6,716
2 23 34,200 31,000 3,200
101 ©1AH| 28,200 25,000 3,200
M ORNZZ2NSE S 28,200 25,000 3,200
O ATHAI E28 D24 EH|QIRY
100,0002 10 *13] 1,000
O FEz4 2| 83332y
60,0002 x 122 +5 2 +23] 19,200
O MNEHEZ HE=ZY
160,000 x5 +5 2 +23 8,000
206 M=l 6,000 6,000
01 MHZHI 6,000 6,000
O 28 294 2073
1,000&+6,0001F 6,000
SHEHIE =81 2| 10,144 9,848 2%
101 @124H| 7,144 6.848 2%
MU IIRIMZZENSES 7,144 6,848 2%
O Megd=d M=z=adg 2fY
160,000 x5 #2353 x20 2 3,200
O 0¥ HEME SH(2LS) ol SHE &
dd3 2y 78,8802 x 10«5 3,944
201 er23 | 3,000 3,000
01 At2teltl 3,000 3,000

_883_




od
i’
oF
uJ

o) X0
or) K
<0 50
=
ol G
=3
ol
ol B 10l
oM ol &l
DK=&
< W

IF RO

=

20 N — =] olo|~ o N~
Klo <9
E
E=)
28|88 g8 (8|8 |8|8|8 21818 B g18|8 g
<|S|s NN S|lo|s Slals ol :
LH3r 1T 0= &
g
RIS
— =] = ~ & w
SlelRIR R & 8 2|8|8 8|88 8|8|8|8 Sl8|8|18 & Egl8|8|8 88 gl8|8§|18E8 &£8 88
m|®|o|o © < NN No|low o ool | ol fad mlu, AI,Jﬁlu,ﬂlu,JI,JI,OJ, OJ,M,M,.anﬁo, _/,Mm,ma,mv_,
al
<
S
ol ol B = -
70 my  OF o d x x ¥ ¥ % x
o | 2 6 & : . o B B W ®
Mw > @o.me% m mgm, m m o 8 8
= ] 3 . S
) | 1E A . Xk g 5 5 88
m“: ﬂnw o~ w Em) o m -
= R m &0 a ©
| 5 5 5 _ o
< |z &) L 5 EE Y 5 o "
~ ¥ <+ g = MR o omm <
= |= 4 — OF 0 — <+
Hir E I 0 K g oF [0 i
i kA i )l i u w ok = < 0w o
(\_lﬂ Ujo a0 i N ok
F el | 5y LBl D leles | lels® P lbezat | lelsze s
D ES | et eEE | EEE |LBE: 2| BELE. BEEEY BuOD
a los|zlslE e b aelw Rz 22 w|lwn (Fleled @ Sl O A e i
o ﬂnom_ﬂ@moo_;_jﬁm_%aﬁﬁwmmm_gmx Halm g 2 IBlaleihor ozlEc2dY il
3| o) |~ S A A e %0 | ol [HO Mlan= ™ =z <K %
N o mo1MO e O | e K 0 ol | < or | ol | < Ho
= . = > 20| = | e O lale|m O« O ~|= 0O O
% mem Qe %0 .LW%O M._%O Mumo S m.__mmo S O
o) ®O ®O Kir Kr

_884_



od
i’
o
uJ

-

KIO

Hlw

57
57
57
657
657

AB600

A600

MEE
Ofl &k2h

85,213
85,213
85,213

36,343

15,343

21,000

38,670
1,710
36,960

6,600

10,200

3,600

Ofl &F2H

85,270
85,270
85,270
37,000

16,000
16,000
21,000

10,000
6,000
5,000
1,710
1,710

36,960

36,960

38,670

9,600
6,600
6,600
3,000
3,000

- HyS

- SRA(E) - HIRAY

S - B

o
10

=2
— o

01 AFS2t2ltl

A Dl

30
OH
Mo
[0

500,000 122
220,000& x14F 123

=

ter= Xl

t

A&

|

X
[=}

01 2LH04
02 A0
O A0

O

202 044l

Kl
KF
aoF
oD

.

KO

0
2D

550,000« 1H 122

250,000& * 128

4
K-
oF
31
30
0H

Ik

=24
o

_885_
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seiof
ZOIBOI AR (EC1D)
arE FUSIAAL (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
621,939 589,384 32,555
HOAIY (EEH) 530,379 499,935 30,444
e FU=SJAY 50,000 50,000 0
THoH Ol & =AY 30,000 30,000 0
401 AIE2BIXL S THYI 30,000 30,000 0
03 AlESTHYI 30,000 30,000 0
O Mool gtz 30,000
a2 FU=IAAMY 20,000 20,000 0
401 AlEHIZ SO 20,000 20,000 0
01 Al&H| 20,000 20,000 0
O A2S3=7AE 20,000
clotRxa 29 196,680 196,630 50
scegy g5 24 196,680 196,630 50
301 EtE N = 196,680 196,630 50
07 S8 -0 - HES2d3 196,680 196,630 50
O ol 191,880
—Jle=¥g 300,000 x41H 128 147,600
- 40123 300, 0002 #4124 +200% 24,600
- slolaaag
20,0003 *41 23| x 12 19,680
O g 50,0002 +*6 2 *13] 4,800
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2 23 39,468 34,797 4,671
101 ©1AH| 31,968 27,297 4,671
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O =2 =24 =HD| =& dat 31,968
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-28= 28,800,000& *11% 3,168
206 MH=H| 7,500 7,500
01 M=4l 7,500 7,500
O 224 4Z& =M + 2,500
O &2¥ AE 22+ 5,000
oA & 2te 14,701 14,081 620
101 @124H| 6,201 6,581 A380
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04 JIZtN2 2N S 2+ 57,161 55,092 2,069
O iSu=a a3 ol 57,161
=y [P sl 160,000 x5 20! 16,000
- H=&g oAl
9,860 *BAI 25 +60 23,664
—Z2A0, HE &X S
9,860 *BAl 2H+5&H x30 11,832
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201 2= 4,000 4,000
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O tisssa2el 4,000
206 M=l 30,000 30,000
01 MZH| 30,000 30,000
O tiSaza aels flgt 28 s 7
20,000,000& x 14 20,000
O BiSut=sd &AClE Rlet g, s% S 7
= 10,000,000& * 14! 10,000
A EH 4,000 4,000
201 Ler23 | 4,000 4,000
2 s3234| 4,000 4,000
O 0t SAAHIA Xt 28
4,000,000 *1CH 4,000
oy = 45,869 32,835 13,034
101 @124H| 16,069 15,835 234
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